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Question Number : 1 Question Id : 864351721 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For an electromagnetic wave travelling in free space, the relation between average energy

densities due to electric (U,) and magnetic (U, ) fields is :
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Question Number : 1 Question Id : 864351721 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 864351722 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas
constant. The pressure of the mixture of gases is :

Options :

RT
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8643512166. V
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8643512167. Vv

B8RT
8643512168, V

Question Number : 2 Question Id : 864351722 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 3 Question Id : 864351723 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dielectric slab is %d , where “d’ is the separation between the plates of parallel
plate capacitor. The new capacitance (C') in terms of original capacitance () is given by

the following relation :

Options :
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Question Number : 3 Question Id : 864351723 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 864351724 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The velocity-displacement graph describing the motion of a bicycle is shown in the figure.
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The acceleratic-n—djspiacement graph of the bicyde’s-} motion is best described hj; :
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Question Number : 4 Question Id : 864351724 Question Type : MCQ Option Shuffling : Yes Is Question
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Question Number : 5 Question Id : 864351725 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to itat an angle
B as shown in figure. The coefficient of kinetic friction is . Then, the block’s acceleration
‘a’ is given by :

(g is acceleration due to gravity)

Options :
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Question Number : 5 Question Id : 864351725 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351726 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B, =04 G, the magnetic moment of the magnet is (1 G=10"1T)
Options :
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Question Number : 6 Question Id : 864351726 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 864351727 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angle of deviation through a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D) When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :

Options :

8643512185, Only statements (A) and (B) are true

8643512186, tatements (A), (B) and (C) are true

2643512187, Only statement (D) is true

643512188, Statements (B) and (C) are true

Question Number : 7 Question Id : 864351727 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 864351728 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An RBC circuit as shown in the ﬁgu_re is driven b*., a AC source generatir:g a square wave. The

output wave pattern monitored b}? CRO would look close to :
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Question Number : 8 Question Id : 864351728 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351729 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :

8643512193, 0:0314 N

2643512194, 9859 x 10~ N

3 3
8643512195, 0-28x 107" N

8643512196, 2-899x 107 = N

Question Number : 9 Question Id : 864351729 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 864351730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
8643512197. Point flunctions

8643512198, Path functions



8643512199, ntensive thermodynamic state variables

8643512200, Extensive thermodynamic state variables

Question Number : 10 Question Id : 864351730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 864351731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x 10> m and
8.0 x 10" m respectively. If the speed of the comet at the nearest point is 6 x 10 ms 1, the
speed at the farthest point is :

Options :

3
8643512201, 1o X 107 m/s

3.0x10° m/s
8643512202.

8643512203, £:0%10° m/s
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8643512204, £ %107 m/s

Question Number : 11 Question Id : 864351731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 864351732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Four equal masses, m each are placed al the corners of a square of length () as shown in the

figure. The moment of inertia of the system about an axis passing through A and parallel to
DB would be :
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Question Number : 12 Question Id : 864351732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Toarpta 2ot m =z 5Eh P | (w8 @b Isimcaa sah @ s@ag= Farel A s
€32 DB (AE FEAE GF0 ST WATE O3 Tha Ty SwNeEd T

D I i
m iy
I ]
m* m
A [ +B
Options :
o] 2
8643512205, - ™!
S
3 ml
8643512206, ¥ M
3 mil?
8643512207.
8643512208, ™

Question Number : 13 Question Id : 864351733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 25 m long antenna is mounted on an antenna tower. The height of the antenna tower is

75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :
8643512209. 200

8643512210, 200

8643512211, 00

8643512212, 100

Question Number : 13 Question Id : 864351733 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 864351734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
8643512213, rrequency

2643512214, mplitude

Intensity
8643512215. !

8643512216, Ihase

Question Number : 14 Question Id : 864351734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Time period of a simple pendulumis T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g /2, the time period of pendulum will be :
Options :
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Question Number : 15 Question Id : 864351735 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 864351736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A plane electromagnetic wave of frequency 500 MHz is travelling in vacuum along y-direction.

Ata particular point in space and time, B =80 x10"® 2T . The value of electric field at this
point is :

(speed of light=3x10% ms—1)

A, 4 M

x, y, z are unit vectors along x, y and z directions.
Options :

o T 3
8643512201, ~+x V/m

8643512222, 26 x V/m

8643512223, 23+ x V/m

8643512224, 20 ¥ V/m

Question Number : 16 Question Id : 864351736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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26 x V/m
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Question Number : 17 Question Id : 864351737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A ccrnduc'rjng bar of iength L is free to slide on two pa_rallel conducting rails as shown in the

figure
[ ]
] .
p? s "
Sy
Ry < " ’ R
< >
| x X [

Two resistors R, and R, are connected across the ends of the rails. There is a uniform magnetic

field E pointing into the page. An external agent pulls the bar to the left at a constant
speed v.

The correct statement about the directions of induced currents I, and I, flowing through
R, and R, respectively is :

Options :
8643512275 [; is in anticlockwise direction and I, is in clockwise direction

8643512276, Il is in clockwise direction and I2 is in anticlockwise direction

2643512227, Both Il and I2 are in anticlockwise direcion

8643512228. Both 1; and I, are in clockwise direction

Question Number : 17 Question Id : 864351737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 864351738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure acting on the submarine would be :

(Assume that atmospheric pressure is 1 x 10° Pa density of water is 10° kgm 7, g=10 ms ~?)

Options :

8643512229.

8643512230. -

8643512231, 2
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Question Number : 18 Question Id : 864351738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 864351739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length °I', area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,

causing an electric current.

[f the length of the wire of the same material is doubled and the area of cross-section is

halved, the resultant current would be :
Options :
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Question Number : 19 Question Id : 864351739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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8643512233.
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Question Number : 20 Question Id : 864351740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One main scale division of a vernier callipers is ‘a’ cm and n
coincide with (n—1)% division of the main scale. The least count of the callipers in mm is :

th division of the vernier scale

Options :
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Question Number : 20 Question Id : 864351740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Number of Questions : 10

Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435150
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 864351741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=8 (],
L=24 mH and C=60 pF. The value of power dissipated at resonant condition is “x" kW.

The value of x to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351741 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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g T 5F | I R=8(), L=24 mH ¢33 C=60 pF T (3 T2 S T4 ‘v’ kW T3 x @7
A SO e AR |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a frame that is made up of two thin massless rods AB and AC as shown in the

f igure. A vertical force F of rnagn_it*udr: 100 N is applied at po‘mt A of the frame.

e

Fa

N

Suppnse the force is F resolved pa_rallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xIN.
The value of x, to the nearest integer, is
|Given:  sin(35%)=0.573, cos(35%)=0.819

sin(1107)=0.939, cos(110%)= —0.342 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351742 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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[CR@mM ST : sin(35°)=0.573, cos(35%) =0.819
sin(110°) =0.939, cos(110°) = —0.342 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The first three spectral lines of H-atom in the Balmer series are given Ay Ay, Ay considering the

Bohr atomic model, the wave lengths of first and third spectral lines [i—lw are related by a
3

factor of approximately ‘x* x10 L.

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 23 Question Id : 864351743 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: ]
QI Colfel SIACE 2GS AANgE AL TOAh AT ST Ay, Ny, Ay 20A [h—f | A x 107!
S )

(AT x €7 T ST ool Sy 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351744 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as

shown in the figure is x x 10~ ! watt.
Rg=35 ()
"'.;'l'. -"'-;".I."' ."'-J I
/ =15V 2N Z R =900
22V ¥g=da ¥ ="k

w
]

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351744 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Toraa T SPIea (&R TS (V, =15 V) S HAod T4, x X 10~ ! watt 203 x «@ T S

oef AgYyH !
Ry=350)
'I'-,.'J'-,"l'-,"'.,.'l".,-'l'-. [
sk V,=15V N } R, =90

l

[

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351745 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity -ID\.":’_; ms 1 along X-axis, hits another ball of
mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to the X-axis.
The configuration of pieces after collision is shown in the figure.

The value of 8 to the nearest integer is

e ———

After Collision

A‘f‘

» X axis

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351745 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 kg SCa9 &5 95 1043 m s~ 1 sferars X-ors wam@a s @ag b 20 kg AN GG TS
TATHE TS FCA1 NS #@ 4eN 0 Fa ¢ TEey 9= W w1l e T =T T7 19 A9 U
Y% 394 10 m/s (A5 FACS WEF Fa @32 o e X-Sowa M 0 @ 20 m/s (e 5|
A 0 9 T S 2 AL |

After Collision

AY

» X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk of radius 0.2 m. It is pin supported at its center and

is at rest initially. The disk is acted upon by a constant force F=20 N through a massless
string wrapped around its periphery as shown in the figure.

F=20N

Suppose the disk makes n number of revolutions to attain an angular speed of 50 rad s~ 1.

The value of n, to the nearest integer, is

[Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351746 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.2 mIATHES 20 kg SCA9 QS AT SIFhs G5 (7 A FAaa e Faed wie) vehes Ao
#5080 ATMHCE 20 N 845 95 24 el 25| T4+ BFea (@IF ife COnaie 50 @eas o203 oowd
5IefB 3t n 3247 2l WG I FT A n G T P A Ao |

(wem =T i 7o SIS SEren 6,28 @CE Cad)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if input A and B are 0 to 1 respectively, the output at

Y would be “x’.

The value of x is

Ace D‘P
B e—{>0 |

Response Type : Numeric

| ey

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351747 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

W o7E FGS T6408 A 32 B IUTHE (0 @3¢ 129 o9 WEooLs Y @@ WW = ‘) @A x oA

Ae D
}_

B e—{>0

D=2




Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351748 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 k() resistor is ‘2" mA.

k0
. 3 k0
A TR v
“ |
21V, 1k

The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351748 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



2UFE TG SRPICA 5 k() (ATA 2ATZA T ‘2’ mA|

3 k)

[
21V, 1k}

YA x &F W S A e
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 864351749 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is
placed 10 m away. The wavelength of light used is "x" nm.
The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351749 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a3 202 -7 Tafew “@rem fog wrm TRy 1 790 @ &E cars M @8 10 m =a A #6a @y =
6 TSl TEe STEE TAHAS 2 nm A Y 3 T AW 4 Hewmw l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 864351750 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance R = v , wWhere V=(50+2)V and I=(20+0.2)A. The percentage error in R is
I

‘X Y%.

The value of “x” to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351750 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

asf5 cang :\::% @A V= (50 +2)V @38 #[7Z [=(20+0.2)A, TR R fefm =rezmn =fa 7

P

¥ %I

@A ‘Y R A A g A |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 86435151
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435151
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A :  The H- O~ H bond angle in water molecule is 104.5"

Reason R : The lone pair - lone pair repulsion of electrons is higher than the bond pair
- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

643512251 Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
8643512252.

8643512253 A is true but R is false

8643512054, [\ 18 false but Riis true

Question Number : 31 Question Id : 864351751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s w1 a3 crem zmte | @36 AT A @ S F e R 2T e -

TAMA: TA WS H- O H FF1 &9 104.5°)

@A R:  SEIHETI IF (EIE-IF (FTC faeTea oed e ww qEe - fgws cEme -« fageer cafe

Tetaa FAgfomeen wwas, T dwe AewafE e e Ted foey @49 ¢
Options :

s64351205) A T R TTI3 WPE @32 A -9F FEFE =T R



8643512252 A @32 R T2 HoS 6 A -4 5o amm R 7

8643512253, A7F R R G

8643512254, A FA FRR IS

Question Number : 32 Question Id : 864351752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i) HNO, synthesis
(b) Ostwald's process (i) Aluminium extraction
(c) Contact process (iii) NH, synthesis
(d) Hall-Heroult process (iv) H,50; synthesis

Choose the correct answer from the options given below :
Options :
8643512255, (@), (b)-(i), (c)-(id), (d)-(iii)

8643512256, (@1 (i), (b)-(i), (c)-(iv), (d)-(ii)
8643512257, (@)-(1), (b)-(iid), (€)-(1v), (d)-(i)

8643512258, @ (D), (B)-(iv), (€}-(1), (d)-(ii)

Question Number : 32 Question Id : 864351752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SifeTl - | @7 75 Sttt - 11 I8 -

wifera - 1 iferat - 11
g »rRfs et
(a) ZATAR &S (i) HNO, Az=me
(b) CBSATS &S (i) e e
(c) g~ *iahe (iii) NH; FTamq
(d) ZHA-TZATCTG ErS (iv) HS0, FeTeae
Options :

0643512255, @), (B)-(3), (e)-(i), (d)-(ii)
8643512256, (@ (1), (b)-(1), (c)-(iv), (d)-(i)
8643512257, @) (i), (b)-(iii), (c)-(iv), (d)-(i)

8643512258, (@)-(ii), (b)~(iv), (c)-(i), (d)-(ii)

Question Number : 33 Question Id : 864351753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A group 15 element, which is a metal and forms a hydride with strongest reducing power
among group 15 hydrides. The element is :

Options :
8643512259, Bi

8643512260. s

8643512261, 3

8643512262. Sb

Question Number : 33 Question Id : 864351753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



SF9-15 (T GFb (16 GCACE T GFIb qTEFH a2 5F91-15 T19G 20 ™@ Ty 74HS FEms =Te 7E
Options :
8643512259, B

8643512260, T

8643512261, 3

8643512262, S0

Question Number : 34 Question Id : 864351754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

8643512263. Rttt

Roastﬁ‘ng
8643512264.

8643512265, melting

Leachmg
8643512266.

Question Number : 34 Question Id : 864351754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T (AT FEAFT GAFAC ATHOCF T 2 ;
Options :

8643512263, TICETH

8643512264, 22

8643512265, 3



8643512266.

Question Number : 35 Question Id : 864351755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1:  H,0, can act as both oxidising and reducing agent in basic medium.

Statement I1 : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

2643512267, Both statement I and statement 1l are true

2643512268, Both statement | and statement 11 are false

8643512269, Statement 1 is true bul statement 11 is false

Statement 1 is false but statement 11 is true
8643512270.

Question Number : 35 Question Id : 864351755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 4o [ghe (rew Ay -
ffe1:  =wrSm mamm H,0, 9% < fToras T 941 2 978 40e 3|
fRfe 11 TErgres w4hiters, wEasrgre oma =@ cfe =)

Options :

8643512267. fagfs 1 wa: faqfs 11 ToraE Ae

2643512068, AT 1 @@ fagfe 11 Tera g

8643512269. gt 110 s g 11 o=



8643512270. e 1 T Fagfe 11712

Question Number : 36 Question Id : 864351756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 :  Both CaCl,-6H,0 and MgCl;-8H,0 undergo dehydration on heating,

Statement Il : BeO is amphoteric whereas the oxides of other elements in the same group

are acidic.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

3643512271, Both statement | and statement Il are true

Both statement 1 and statement 11 are false
8643512272.

3643512273, Statement 1 is true bul statement 11 is false

8643512274, Statement 1 is false but statement 11 is true

Question Number : 36 Question Id : 864351756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s w5 3fs orew zrae -
e 1:  Tenem ¥wE CaCl, 6H,0 @32 MgCl,-8H,0 Toa (ivsl forwey igafbe =3
fRfS 11:  BeO Todll fom @33 77 SRES S (TETYC2a 2T SEel |

Torad fagfe Wrza wEnS, b awe “ewdE (WS Ae e W 999
Options :

8643512271. gt 1«32 f4gfs 11 Teraz e

cea3sipory, A 1 @ae ffe 1 Terek g

8643512273, g 1 510s fom fegfe L gt



8643512274. ffe 19 fom fafe 11w

Question Number : 37 Question Id : 864351757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Name of oxo acid Oxidation state of ‘P
(a) Hypophosphorous acid (1) F5
(b)  Orthophosphoric acid (i) +4
(c) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2
(v) +1

Choose the correct answer from the oplions given below :
Options :
8643512275. (a)-(v), (b)-(iv), (c)-(ii), (d)-(iii)

8643512276, (@), (B)-(1), (€)-(id), (d)-(iii)
8643512277, @F(V), (D)-(v), (€)-(ii), (d)-(iii)

2643512278, @r (V). (B)-(1), ()~(ii), (d)-(iii)

Question Number : 37 Question Id : 864351757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sifera - | @7 ACH Sifersst - 11 (TS :

wifera - 1 wiferast - 11
wrH Sres W P GF EIE T Il
(a) ZECRFTFATA SOTE (i +5
(b) cdrTETS SIhTe (i) +4
(c) TEARFIE AT ST (i) +3
(d) SRR ShTe (iv) +2
(v) +1
S o7E AFWLE (ATF AGE TEAs 45T F4
Options :

8643512275. (@)-(v), (b)-(iv), (c)-(ii), (d)-(iii)
2643512276, (@)r-(iv), (b)-(1), (c)-(i), (d)-(iii)
2643512277, @F(V), (B)-(v), (c)-(i), (d)-(iii)

8643512278, @), (B)-1), (0)-(ii), (d)-(iii)

Question Number : 38 Question Id : 864351758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk** ion is less than Np® * ion.
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

2643512279, Both A and R are true and R is the correct explanation of A

2643512280, Both A and R are true but R is not the correct explanation of A

3643512281, A is true but R is false



964351208y, A 18 false but R is true

Question Number : 38 Question Id : 864351758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s 4 79 e TR | @0 o U A BoTa ifEe ¢ weil # e R B T
TATA:  Np®t wmeTs v B T wRe W2E oW e
FETR:  THTEA OAD @ AT ALTEFS AiFad T4

Options :

8643512270 A T2 R TERE HIF «R2 A -97 5F AW R

2643512280, A ¢ R TSR 7T 798 A -7 A= rm R

8643512281, * o = R

8643512082, A TF 8 R0

Question Number : 39 Question Id : 864351759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1:  The E° value for Ce** /Ce?* is +1.74 V.

Statement Il : Ce is more stable in Ce?* state than Ce®* state.

In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :

2643512283, Both statement 1 and statement Il are correct

3643512284 Both statement | and statement 1l are incorrect

8643512285, Statement [ is correct but statement 11 is incorrect

8643512286. Statement 1 is incorrect but statement 1 is correct



Question Number : 39 Question Id : 864351759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s v fFgfe rem wws -

fgfe1: cett/cet @ E W +1.74 V.

fgfe11: Ce -3 iRy Cedt Wi (508 Celt wa @M1

Toran FgfoTarea wees, T aWe AewaE ers wverE gy TEa s 759

Options :

2643512083, 918 1 @2 e 11 Ter Ao
s643512084 T3S 1 @3 gfe 11 Toraz g
s643512285, T 1770 e fagfe 11 g

gfe 1 o= fom fagfe 11 510

8643512286.

Question Number : 40 Question Id : 864351760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The type of pollution that gets increased during the day time and in the presence of O, is:
Options :

8643512287. Beducing S0

DxiLﬁqmg Smog,
8643512288.

8643512289, -cid rain

Global wam'ning
8643512290.

Question Number : 40 Question Id : 864351760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fatea @@ O, -9a TefEfers @ wd 3% =

Options :
8643512087, | ORI (AT

8643512288. RIS CATrT

EEG

8643512289.

8643512290, 14 TAETH

Question Number : 41 Question Id : 864351761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :
Options :

8643512291, clubility of the compound

2643512292, Mobr_ht}’ or flow of solvent system

Length ol the column or TLC pIat::-
8643512293.

Physical state of the pure compound
8643512294. ’

Question Number : 41 Question Id : 864351761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et dfear «afb e ferafaead I g foda sca o
Options :

8643512291, (Ao HAATST
8643512292, FACPH FLETS! A1 £ETZ

8643512293, T Trefl A TLC cerba o7eh

8643512204, T8 U (STOTEI



Question Number : 42 Question Id : 864351762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Among the following, the aromatic compounds are :

(A) —CH, (B)

(©) (D)
S ®

Choose the correct answer from the following options :
Options :
8643512205, (1) and (B) only

8643512296, (/) (B) and (C) only

8643512207, (0} (©) and (D) only

(B) and (C) only
8643512298. =

Question Number : 42 Question Id : 864351762 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tz (qeOTEE W AL @etefe 29 :
(A) C>:CI 1 (B)

(©) (D)
) ®

qTE AWE TEvE (UATF ATGE TEA D 5T 9 ;

Options :
8643512205, 2ama (A) @ (B)

8643512206, oV (A), (B) ¢ (C)

8643512297, 2444 (B), (C) @32 (D)

wYITE (B) @3¢
8643512298. = (®) ©

Question Number : 43 Question Id : 864351763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is Lindlar catalyst ?

Options :

8643512200, Partially deactivated palladised charcoal

8643512300, Sodium and Liquid NH3

Cold dilute solution of I'fII"»'i_'nwD4
8643512301.

8643512307, Zinc chloride and HQ

Question Number : 43 Question Id : 864351763 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Tiesa G Fieema wEee ?
Options :
8643512299. s g e s

CTfEa @42 w9 NH,
8643512300. 3

KMnO, ¢4 Argw 7y §a9
8643512301. '

3643512302, |7 GEIZE ¢ HCL

Question Number : 44 Question Id : 864351764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H5C Cl

20% H,PO CH;)y COTKTt s
-4 3)3 B

"A” »
358 K (Major Product) (Major Product)

The products “A” and “B” formed in above reactions are :

Options :
CH, CH,

8643512303.

8643512304.



8643512305.

CH,4 i|.:|fH2
A— B —

CH, CHj
Question Number : 44 Question Id : 864351764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H,C  OH H,¢  Cl
20% H,PO, i (CHy); CO-K+ -
WK (s Beomwn) (2o BerEEa)
I

8643512306.

Toran Afaam Teemwar “ A” @9 “B” 7
Options :
ClH,

8643512303.

CH, CH,

I
A — B —
8643512304.



CHs CH,

CH; CH,

8643512306.

Question Number : 45 Question Id : 864351765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8643512305.

o—_
i) DIBAL-H, Toluene, —78°C wpr
ii) H;O™ ! (Major Product)

The product “P” in the above reaction is :

Options :

CHO

8643512307.

8643512308.



OH

CHO

8643512309.

COOH

ot

8643512310.

Question Number : 45 Question Id : 864351765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o—_/F

i) DIBAL-H, G531, —78°C
i) HyO*

v

P

(5]

&

¥ g
-] -]
»n

5

A
o

o A e TeemmE “PY 2
Options :

@/\ CHO
8643512307.

0

I

8643512308.



OH

CHO
8643512309.

COOH

8643512310.

Question Number : 46 Question Id : 864351766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity.

Reason R : Enol formof acetyl acetone is stabilized by intramolecular hydrogen bonding,

which is not poasible in enol form of acetone.

Choose the correct statement :
Options :
3643512311, Poth A and R are true and R is the correct explanation of A

2643512312, Both A and R are true but R is not the correct explanation of A

643512313, A is true but R is false

2643512314, A 15 false but R is true

Question Number : 46 Question Id : 864351766 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



S A: PG [CHCOCH,]| (R @@ taa *1o1se T1fgfe 0.1% @7 ora 391 famg
GRS SMRTeTEE [CH,COCH,OCCH,] @@ & Pt *renfs T=f#fs 15%
T FEFE |

FEIR:  TRAES TICGEA THhAl OIS SNOGL-E G5 SIoE Ty W 0d (92 @
TG oTd STEd (5T 7Ed 4 |

Aoe fgfelt @z Ms :

Options :

s643512311. A SRR Ters WS W92 A -97 HEE AT R

cca351231p. A T R S8 Mo R A @ Ao T R T

8643512313. o~ L i

8643512314, A7 198 R

Question Number : 47 Question Id : 864351767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCl
273 -278 K

i Xlu o A.‘” 3
r

Major Product

In the above chemical reaction, intermediate “X” and reagent/ condition “A" are :
Options :
NO,

X- ;  A- HO/NaOH

8643512315.



X - ;  A- H,0/A
8643512316.
+
N,Cl—
5 48 ;  A- HyO/NaOH
8643512317.
NO,
% ; A- HO/A
8643512318,

Question Number : 47 Question Id : 864351767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

NaNO,, HCI
273-278 K

i Ah‘
i XJ’! B
»

ELERCRG B ELT)
Tt AP AfETE waEel amel “X7 @32 s HreEat C A 74

Options :



NO,

% ;  A- H,O/NaOH
8643512315,
N,ClI~
& ;  A- HyO/A
8643512316.
+
N,Cl—
s [::%::J ; A- H,O/NaOH
8643512317.
NO,
X @ ;  A- H0/A
8643512318.

Question Number : 48 Question Id : 864351768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnﬂowmg reaction DOES NOT involve Hoffmann bromamide degradatimn ?

Options :



O
|l

CHE I E o CH; CHE - NHE
i) Br,, NaOH/H *+
ii) NHa/A
8643512319, e
O
|l
O/ Br,y, NaOH
8643512320,
O
I NH,
Cl
i) NH,, NaOH
ii) Bry, NaOH
8643512321,
CN NH,
i) KOH, H,0
ii) Bry, NaOH
8643512322.

Question Number : 48 Question Id : 864351768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
i
CH, — C— CH; CH; —NH;
i) Br,, NaOH/H "
ii) NH;/ A
iii) LiAIH, /H,O
8643512319. ) 4/ H

8643512320.



O
Il

Bry, NaOFl O/

@]
I

NH,
Cl
i) NHs, NaOH
8643512321. i1) Bry, NaOH
CN NH,
i) KOH, H,0
ii) Br,, NaOH
8643512322.

Question Number : 49 Question Id : 864351769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The functions of antihistamine are :
Options :
8643512323, 'ntiallergic and Analgesic

8643512304, {\nalgesic and antacid

Antacid and antallergic
8643512325.

8643512326, A\ntiallergic and antidepressant

Question Number : 49 Question Id : 864351769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WWW' 2RI GE TG oF -

Options :



TGS S G2 @RS
8643512323. a3

8643512324, CTATEHF &2 T

8643512325, o

8643512326. a3t FEgreTaeE

Question Number : 50 Question Id : 864351770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among, the fDHcrwi_ng pairs of Vitamins is stored in our bodj.r rela Livc-l}r for Ic‘-nger

duration 7
Options :

864351237, [iamine and Ascorbic acid

2643512308, Vitlamin A and Vitamin D

8643512300, 1 hiamine and Vitamin A

Ascorbic acid and Vitamin D
8643512330.

Question Number : 50 Question Id : 864351770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tesa 1 FEOfm-TaTe IR (R SeerEgeed T Ty Hees 4w ?
Options :

8643512327, TR @3¢ TP ST

8643512328, TS0 A @32 FEG D

8643512329, I «ae FEbiae A

WTHFAEE e a3 Bl D
8643512330.



Chemistry Section B

Section Id : 86435152
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435152
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm . The molarity of the solution

is ~__mol dm ™3,

[Atomic masses : K : 390 u; O: 16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351771 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

KOH (aq.) @@ «=f5 6.50 (& TR 9g 1.89 g cm 3| FACR @TEE 5%
mol dm 3| (F=5ea #mem)

[#hemefas 9 : K : 39.0 u; O : 16.0 u; H: 1.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 52 Question Id : 864351772 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A certain element crystallises in a bec lattice of unit cell edge length 27A. If the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom ]

[Assume /3 = 1.73, 42 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351772 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9T (TH FLIEF T (boc) FADTS T | @7 GFF (A A2 T7e 27A | T 93 (TH T3

TS YPIFFET TAFFE (foo) (FAMNE 2, OE@ OF @FF (PUA AL A T3 Al
(frebem sjee=m)

(273 M8, AfSH F=m Tore I “ang ITE|

(473 83 =173, V2 = 141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When light of wavelength 248 nm falls on a metal of threshold energy 3.0 eV, the de-Broglie
wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use : 3 =173, h=6.63x10"* Js
m,=91x10"3 kg ; c=3.0x108 ms~1 ; 1eV=1.6 x10~ 1]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351773 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T4 248 nm SAHCACLR WA 3.0 eV o1 *fEomm ¢ qrere wehes 27, Ffas raegem
w-goE SR WM A°1 (frebe sefeam)

[¥75 #MMS 1 3 =173, h=663x10" 3]s

m,=91x10"3 kg ; c=3.0x108 ms~1; 1eV=1.6 x10 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351774 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, AG°=—9.478 k] mol L.
If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).

[R=8314] mol ' K !;In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351774 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A(g) = B(g) Ff@mmiba 495 K @@ A G°= — 9.478 k] mol 1|

A Gl oam e 495 K e 22 e A e fafem s s =, TeoeeR e B ¢ b
[T __ Tafeamen) (Frebem sjefeam)

[R=8.314 | mol o 10=2.303]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 864351775 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AB, is 10% dissociated in water to A** and B™. The boiling point of a 10.0 molal aqueous
solution of AB, is ‘C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K, =0.5 K kg mol ! boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351775 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AB, &7 10% fraf¥® 209 A2+ @32 B~ ©eHH F@| 100 (T SIFAA AB, WaTTa “Fo-T%
'Cl (Frebew #efAe=m)

WeT WY : TEa CaEnE oagd F4¢ K, = 0.5 K kg mol ~ !; FwE wtam TFoAE = 100°C
b & :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 56 Question Id : 864351776 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salts A,X and MX have the same value of solubility product of 4.0 10 !2, The ratio of

S(AX)
their molar solubilities i.e. W = T . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 864351776 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

73l o9 A X @@2 MX @9 BRETS] QeRFce W o T 4.0 x10 12| =39 1368 EE gEre

S(AsX) _
TATS Hefie S(MX) | (Frebem #efAeam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351777 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bC05 +cHY = xMn?* 4y COy +zHy0

If the above equation is balanced with integer coefficients, the value of ¢ is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 57 Question Id : 864351777 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 MnOj +bC07 +cHY = x Mn?* +y CO, +z Hy,O

o fafemfbre «eema e I50m wm e G T, c @ W wed | (e
Z[SfFH 2T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351778 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0 10 "? s~ ! and the activation energy E,=11.488 k] mol " !, the rate
constant at 200 K is %1072 s 1. (Round off to the Nearest Integer).

(Given : R = 8314 Jmol 1K™ })

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351778 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ooy FataS wmbed fAranee Ao ww e s #a) 3w 300 K wemew fEnthe sfeem
FAF T 1.0 x10 3 571 @32 Heme =feq T9 E, =11.488 k] mol ! T =73 200 K SH¥aE
x10~5 s 1) (f@bea «fem)

(ST EME : R = 8314 T mol 1K1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 59 Question Id : 864351779 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of eth}flene diamine required to rr:-place the neutral Ligands from the

coordination sphere of the trans-complex of CoCl;4NH; is __. (Round off to the

Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 864351779 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-%105 739 CoCly 4NH, @& T7R&91E 951 G&F (AT 7 o weme afewi e sas @
sifame SR TRemtie game waeE 30d O T | (frebem #yeneam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351780 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 750 g of an organic compound provides 420 g of CO, and 210 g of
H,O. The percentage composition of carbon and hydrogen in organic compound is 15.3 and

respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 60 Question Id : 864351780 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

750 g @FM (5 (e 7 w2t 420 g CO, @a2 210 g H,O E=#m =1 (53 @nifire 14 «3g
SEIGILECA *o i wfEd JA@H 15.3 @3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

86435153
5

Online
Mandatory
20

20

80

Yes

1
86435153
Yes

Question Number : 61 Question Id : 864351781 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i i . qE 5
Let A= { P w i = /=1 - Then, the system of linear equations .-"x&'{ ] = { w has:

Options :

8643512341, No solution

A u_nique solubion
8643512342.

8643512343.

8643512344, xactly two solutions

Inf 'LniteI}-' many splutions



Question Number : 61 Question Id : 864351781 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| i —i] . : aTE T8
4T A={ s ] i = 1 | O FEers Saena AELF [u]
2

Options :

8643512341, LT TR F1Z

8643512342, “FIVATE FTET 102

SASYT A SE
8643512343.

8643512344, I B3GR icy

Question Number : 62 Question Id : 864351782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the functions f: R — R and g : R — R be defined as :

x<0 x> =]

_ jx 2, : x>,
flx)= [ xz, x =0 and 8(%) = 3x -2, =1

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
8643512345, U

8643512346, |

8643512347, 2

8643512348, 3

Question Number : 62 Question Id : 864351782 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Jx +2, x <0

| ¥, x>0 s

4fq f: R — R 932 g: R — R S0 5210 fAufafas @ Feweris f(x)

x=, x <1

ﬂﬂ=[h 5 IBIRﬁﬁ@ﬁﬂ@@guﬂﬁﬁﬂﬂﬁﬁﬂﬁ%ﬁﬂﬁﬂ%ﬂﬁi

Options :
8643512345, U

8643512346, 1

[

8643512347.

8643512348,

Question Number : 63 Question Id : 864351783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ - z +2
Let P be a plane Ix + my + nz=0 containing the line, 1 ' - = . If plane P
divides the line segment AB joining points A(—~3, —6, 1) and B(2, 4, — 3) in ratio k : 1 then

the value of k is equal to :
Options :
8643512349, 2

8643512350, 1.5

8643512351,

8643512352, 4

Question Number : 63 Question Id : 864351783 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1-x k4 42
4T P SAoetita a9 26 Ix + my + nz=0 | T 11 =4 =z,% AFATANG P WS

2

EETES 2 A9 P Ao G AB FaeT@ e T k1 SAATTS I35 T, T A Q32 B aﬁﬁiﬁ

A(-3, —6,1) 932 B(2, 4, - 3) B k 97 U7 5@
Options :
8643512349, 2

8643512350, 1.3

8643512351, 3

8643512352, +

Question Number : 64 Question Id : 864351784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If for a > 0, the feet of perpendiculars from the points A(a, — 2a, 3) and B(0, 4, 5) on the plane
Ix +my+nz=0 are points C(0, —a, — 1) and D respectively, then the length of line segment
CDis equal to :

Options :

8643512353. ° o

8643512354, V6O

8643512355, V41

e
8643512356. 5

Question Number : 64 Question Id : 864351784 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T Ix + my + nz=0 ATSTET T4F A(a, — 2a, 3) 9I2 B(0, 4, 5) a7 2316 wfEw wigaryq
AmfayesfeT C(0, —a, —1) 992 D3F, @A a > 0 | ©IEE CD FIe@1erIa gt 54

Options :

8643512353, ° ad



8643512354, V6O
8643512355, V41

=
8643512356. 35

Question Number : 65 Question Id : 864351785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider three observations a, b and ¢ such that b=a +c. I the standard deviation of
at2 bt+2 ct2isd, then which of the following is true ?

Options :
8643512357, P =3(a”+c7) ~9d”
8643512358, U @ te)+9d

e 2 2
8643512359, b-=a" +c=+3d

8643512360, 0 (@t et hdS

Question Number : 65 Question Id : 864351785 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ a, b QT2 ¢ G T5qT0 JE@ST T b=a+tc Ta @I TH a+ 2, b +2, ¢+ 2 GF HF <1
d =T e AI06d (FIFD A6 ?

Options :

8643512357, 0 —d(@”+c7) —~9d*
Bl By o gd8

8643512358, D — (@ +cT) +9d

o | 2 2 2
8643512359, b-=a" +c=+3d

8643512360, 0 — @ et d



Question Number : 66 Question Id : 864351786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fa

Let the position vectors of two points P and Q be 3i ? ¢ 2k and i 4 2; 4k,
respectively. Let R and S be two points such that the direction ratios of lines PR and QS are
(4, —1,2)and (—2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the

veclor ﬂ is perpendicular to both Fﬁ and as and the length of vector ﬂ '15.\.@ units,

then the modulus of a position vector of A is:

Options :

8643512361. V5

8643512362, V171

8643512363.

Jig2

8643512364

Question Number : 66 Question Id : 864351786 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4fa P wae QWW@HW.R? i+ 2k Lﬂ-'ﬁ-? - 27 — 4k | SIS TREAT ST
™ R @3¢ S quF Jii 9% IZ07d &5 PR €32 QS FAddarad W S T9& (4, — 1, 2)
qae (~2,1, —2) | W 4 (T PR 932 QS @AM T favre v oa | 7 TA 6% af0 PR 938
Q5 9d GF T QA2 TA 97 0TS |5 9FF T ore A frva wife (o3 afta siane 2@

Options :

J5

8643512361.

8643512362, V171

227

8643512363.



8643512364. a2

Question Number : 67 Question Id : 864351787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let a vector o 4 |_J,'_;" be obtained by rotating the vector /3 iy _;" by an angle 45° about the
origin in counterclockwise direction in the first quadrant. Then the area of triangle having

vertices («, B), (0, ) and (0, 0) is equal to :
Options :

PO | =

8643512365.

—

8643512366.

B

8643512367.

1

8643512368. V2

Question Number : 67 Question Id : 864351787 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B o 4 |a'} To3 At AT SEfEe Wae SEIE e Bras 3 4 ; (G AL 45° @
qioa FIGMA Feidts qrd 9w | S (o, B), (0, B), (0, 0) A 3o fagsiid oFawe 504

Options :

P | =

8643512365.

—

8643512366.

B

8643512367.



1

8643512368. V2

Question Number : 68 Question Id : 864351788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{81]551121' | {S-I]L'[l‘izl' — 130

in the interval [0, 7] is equal to :
Options :

s

8643512369.

a3

8643512370.

8643512371.

o ]

8643512372.

Question Number : 68 Question Id : 864351788 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
6T TNFAAA [0, w] SEAE TS WG ST AL

{Bljﬁin_l | {SI}LEH_I o -'_'H']
34|
Options :

g

8643512369.

8643512370, 3

8643512371.

o ]

8643512372.

Question Number : 69 Question Id : 864351789 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card miqsing. Two cards are drawn ra:mjl::rnﬂj.;r and are found to be

spades. The probability that the missing card is not a spade, is :

Options :
)
2
8643512373, 122
52

8643512374, 867

39
8643512375, U

.+:-|qu

8643512376.

Question Number : 69 Question Id : 864351789 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
il &'_‘H@ wld A ﬂ@k_-“

qF AMFD B 500 GFTh o [ediSi| 9% SIoHE STeh 220e 4ib o GFl 2671 93 Jib o
TSP T G MediS Gl SHF9F 20T1F TBEFT 33@

Options :
)
2
8643512373, 122
52

8643512374, 867

39
8643512375, U

.+:-|qu

8643512376.

Question Number : 70 Question Id : 864351790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
The range of acR for which the function

.f

- . x ;
f(x)=(4a - 3) (x + log.5) + 2(a — 7) cot [;J sin” J x #2nm, neN has critical points,

is:
Options :
8643512377, L7 ™)

i 99—
8643512378.

-5]

=

8643512379. -

8643512380. (=3, 1)

Question Number : 70 Question Id : 864351790 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATET (@1F SWAED acR 99 TIAT T IEE Sy

. 2 f XY .
f(x)=(4a — 3) (x + log,5) + 2a Jcnt[ —|-»m 13), x #20m neN werETET @z @

OFITEF ATHCY (critical points) ATFE ?

Options :
1,
8643512377, L7 ™)
i 99—
8643512378
-5]
=
8643512379. -
':‘
8643512380, L 7 1)

Question Number : 71 Question Id : 864351791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If n is the number of irrational terms in the expansion of {3‘-1 | 5}-3‘ |, then (n — 1) is divisible
by :
Options :

8643512381. °

o s]

8643512382.

2
8643512383.

Lo

8643512384. /

Question Number : 71 Question Id : 864351791 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i (3%, 5% aififia Rfsts onem A0m@ el n 50 O (n - 1) TG Tva @H
St wrar ooy

Options :

8643512381, 20

8643512382, 8

26
8643512383.

=

8643512384, *

Question Number : 72 Question Id : 864351792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Let [x] denote greatest integer less than or equal to x. If for neN,

2, azj +4 l a2;+1 is equal to :
j=0 =0

Options :

K2

8643512385.

8643512386. 1

()

8643512387.

(S

8643512388.

Question Number : 72 Question Id : 864351792 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dn
N 3 _ Y 2
41 [x] 757 J5SW STUE S x | T neN @G @i sreust A wes (1 - &+ 20)" = 3 a;af

N P

=|,EEE ) a t4 ) ayjy I UM IR
7=0 7=0

Options :

8643512385. =

8643512386. 1

()

8643512387.

8643512388, 1

Question Number : 73 Question Id : 864351793 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :
Prgvipve

8643512389.

8643512390, P~V P —=9)

M AP
8643512391. AR S P=ra

8643512302, D= (P =9

Question Number : 73 Question Id : 864351793 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TCEA @F1F Flerra T aFfG GroETs ?
Options :

8643512389, PAdVipvy

8643512390, P DV P —9)

M A0
8643512391, P DA P9

B A — -
8643512392, £ D7 (P =9

Question Number : 74 Question Id : 864351794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k ‘5 -
— V —1 E' 3R PP .
Let Sk = D tan {73*1 R2rH | Then k“!_’:‘ Sk is equal to :
r=1 2 - )
Options :
T
2

8643512393.



8643512394, \2/

£

tan 1 [;|

8643512395, 2/

tan ! (3)
8643512396.

Question Number : 74 Question Id : 864351794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k T \
= a1 6 A
aﬁ- Sk N E AR { n2r+1 | *_11!";'1 SIE ]:Iflp 5;\. Lﬂamm
r=1 |- . /
Options :
T
2
8643512393, <
343N
cot =
8643512394. o 4
, N
tan . [; |
8643512395. i
tan~ ! (3)
8643512396.

Question Number : 75 Question Id : 864351795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {xeR : (x|~ 3) [x + 4 =6} is equal to :

Options :

sl

8643512397.

g

8643512398.

[F8]

8643512399.



8643512400, *

Question Number : 75 Question Id : 864351795 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
{xeR : (x| - 3) |x +4|=6} CTCIHT *WI24T Z5
Options :

(=1

8643512397.

g

8643512398.

T

8643512399.

8643512400, *

Question Number : 76 Question Id : 864351796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{Ic}gm n—1), n > 0,

M|»—-'

If for xe | 0, % |, log, sinx +log,cosx = — 1 and log,,(sinx + cosx) =
2

then the value of n is equal to :
Options :

8643512401. ?

8643512402, 12

16
8643512403.

8643512404, 20

Question Number : 76 Question Id : 864351796 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S : ¥
Hd xe | 0, %1 qIH GG AL AR] log osiny + logpcosx = — 1932 log o(sinx + cosx) = — (log,,

]
+

n—1), n > 0 ARG Bra $0d | SIEE n 9F 019 5=



Options :
8643512401.

8643512402, 12

16
8643512403.

8643512404, 2V

Question Number : 77 Question Id : 864351797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
d ()
If y=y(x) is the solution of the differential equation, :i—f t 2ytanx = sinx, y[ 3 | = 0, then
X 3/
the maximum value of the function y(x) over R is equal to :

Options :
8643512405, 8

M=

8643512406.

8643512407. 4

.
8643512408, 5

Question Number : 77 Question Id : 864351797 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I y=y(x) TET SEFT ATPANTT j_a.i  2ytany = sinx, 1;{;” = () G0 HILH T SrELe
y(x) 9T AT T19 R T4
Options :

8643512405, ©



8643512406.

8643512407, 4

.
8643512408, O

Question Number : 78 Question Id : 864351798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, x2+y*=25 which is tangent to the
2 P
x
hyperbola, — — — =1 is:
YP 9 16

Options :

2422 932 1442 =
8643510400, & TV )T+ 144y"=0

2+ )2 -9x2 - 16y42=0
8643512410. { Y ) Y

2y 922 41612 =0
8643512411.( s } J

8643512412. (xZ+yH2 - 1622+ 992 =0

Question Number : 78 Question Id : 864351798 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2

x2 412 =25 JCEA (T S % 31’—6=1 SATFLET =51 (S BIEIE VETTaYa TR @

Options :

24?2 - 922+ 144y =0
8643512409, & 1Y) 9x y

2y -9 - 16y2=0
8643512410, & 1Y) y

2 32 2 ey
soassioan, YT HIOT=0



RN L S, B
8643512412, (F T¥) 1627+ 9y=0

Question Number : 79 Question Id : 864351799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the three normals drawn to the parabola, yz=2r pass through the point (a, 0) a=0, then

‘a’” must be greater than :

Options :

[y

8643512413.

8643512414.

R =

8643512415.

k3| =

8643512416.

Question Number : 79 Question Id : 864351799 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2 =2x WHICIT @94 SFS [59T0 T ATEPE (a, 0) a=0 it = o=EE Twd @[
TAGT (A ‘a’ TTTE TC 54 ?
Options :

8643512413, 1

8643512414. 1
1
]
8643512415. =
1
l')
8643512416. =

Question Number : 80 Question Id : 864351800 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i z| + 11
Let a complex number z, |z/= 1, satisfy log y | ——| = 2. Then, the largest value of
N Lz — 1) ]
zisequalto
Options :
8643512417, 9

8643512418, ©

|

8643512419.

8643512420.

Question Number : 80 Question Id : 864351800 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

47 z GUF QPG STve AT A 221 932 log | | — '”2 < 2 @ P o | O |z 97
- \(zl =17

HCATSE W 54

Options :

8643512417,

8643512418, ©

8643512419,
8643512420, ©
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Question Number : 81 Question Id : 864351801 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7+ 1

Let z and w be two cm‘nplex numbers such that w = zzZ — 2z + 2, A
7 — 3

‘ =1 and Re (w)
has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351801 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

zZ+1

49 z 93¢ w QUF 526 TG I IECHE & w = 27 — 2z + 2,

‘ =1 992 Re (w) 99

=i

TH 1Y | BiEe A4 WY FIeiad F2UT neN IEF S @ TEINE J79F 509 ©id T A9
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351802 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



&
Let f: R — R be a continuous function such that f{x) + flx +1)=2, forall xeR. If [; = J:.Ir(.t']dx
0

3

and I, = If{x}:ir , then the value of I, + 21, is equal to _
—1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351802 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

44 f: R — R Qe G310 fHaaftas Scerss aral f{x) + flx + 1) =2 Wi 56U @Al xeR Od & |
' 8 ' 3

afii [ = [f(x)dx €32 I = [ f(x)dx 0 OEE L + 21, 97 TH T3
0 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351803 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥

If the normal to the curve y(x)= _[{212 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= —>5, a > 1, then the value of a +6b| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 83 Question Id : 864351803 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

% (a, b) 9@ y(x) = I(th 15t + 10) dt JrFg Oog WiFe SAlee® x +3y= 5 FFe@LA
0

AN 34, (YH a > 1, O |a+6b] O 19 (T __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351804 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g i ren ek

: ac bcosx + ce :

If lim : =2, then a +b+cis equal to
10 xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351804 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

~ .. ae® —bcosxy +ce”*
i lim — I T® ) e atbtc GINEA T

x—l Xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351805 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. If the last terms of these series are the maximum possible four digit

numbers, then the number of common terms in these two series is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351805 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4 QU GF G e F5ifs 93 Qg 9FG Srerag defs eTT e I 4 AT @ oM
(11, 8, 21, 16, 26, 32, 4} CT6 2306 (@aA | M 9% ¥3 eeifisg o ~mafe |y 57 SIET 328N
sqia3fer 57 BrEE geifs qitd IHET *m &7 (Common terms) F U 257 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351806 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 20 o h) 2 7 i)
3 E 1+ i3
Let P=| 90 140 112|and A = 1 (1) 1| where w= e and I, be the
120 60 14 0 o —watl B

identity matrix of order 3. If the determinant of the matrix (P I.ﬂ'ui-‘—l_;_]2 is aw?, then the

value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 86 Question Id : 864351806 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0 20 56 2 7w
o i (F— 1+iV3 | _a
g9 P= 00 140 112| @32 A = 1 (1) 1 AN w = — | qTH I3

120 60 14 0 ~o —wtl

TGt 3 «@ss mGE = a3s (P lAP-1;)? wiEtGa AT 79 aw? T, OEE o 99 TF
=4 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351807 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:(0,2) — R be defined as f(x)= 1082[1 I tan[T'TI\| }
3 T S

L1

3 9 # Y N\
Then, lim — [J.I"{—| I I.Ir[—] g ._.Ir[11J| is equal to
\n J

n—oe I o)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351807 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



g9 f: (0, 2) —» R "ewSB Ausmtd Aewifas f{x}=mgz[1 | “"“[TAN | BIRT
\ \ .

.lim = fj'[iw | r[%} Fos o ,ﬂlﬂ qF 119 =4

n—es 0L AN : J N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351808 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 ¥ 3 matrices A having entries from the set {0, 1, 2, 3] such that the sum
of all the diagonal entries of AAT 59, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351808 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

47 A 9N QFG 3 x 3 WG I=[ *MSfE {0, 1, 2, 3] G0 2o @3q  3s AAT v Ffmafag
GISREeT 9 | G A TG oA T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351809 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Let ABCD be a square of side of unit length. Let a circle C, centered at A with unit radius is
drawn. Another circle C: which touches C 1 and the lines AD and AB are tangent lo it, is
also drawn. Let a tangent line from the point C to the circle C; meet the side AB at E. If the

length of EB is .u F 3 {3, where «, [ are integers, then a + 5 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351809 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

¥4 ABCD 9310 Q3% 5@ | C; GF QF0 @ TS (FHRY A 98 T 9F 9FF | C, 90
TG 8 AR C, F = T 932 AD & AB (@M C, 97 =% | W7 79 (7 C 7+ 230 =iFs

C, @a o1 ~onfa AB A1203 E s (2 30 | M EB @190 07 o + /3 B 2, @A o @
B 720 ST U, SISE o+ B 9T 99 3@ |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351810 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d1
Let the curve y=y(x) be the solution of the differential equation, d—i= 2(x +1). If the

numerical value of area bounded by the curve y=y(x) and x-axis is 3 7 then the value of

y(1) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 90 Question Id : 864351810 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

d B A
g —5{= 2x + 1) St FFATHT ATEE 267 y=y(x) | IH y=y(x) 932 x-30F 4T % S

dx
.4\@
ORI CFaTA —— B, OFRCT y(1) WARTE

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



